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WE2+¢ 2,137,021 2,241,100 -104,079| 34.49%(=2 = 326,400 317,800 8,600
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20239 = =AM SE3A 1X FHUA X=0&tA

2. A3X=E o HR
o = 20238 & 2023 = = 2 ama
= 5t = 1Xt=3 = 0fl &
4127 XNRAE X2 20,500 20,500 0
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(=L)X FE FHl2elgl 24 -10,000, 000
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4213 ZH 22| 2,000 2,000 0
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4219 JIEFAI & 22| Y| 11,000 11,000 0
(222 2)J|EFAI A 2t2IH] 11,000,000 *13]= 1,000,000
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(& A 11,000,000
4220 L8t 294,600 339,800 -45,200
4221 dHl n SH| 15,000 48,000 -33,000
(=212 g)=2LH2 04H1:40,000,000& *15]= 40,000,000
(REAL)2UQ 01H:5,000,000&*13|= 5,000,000
(HITIA )22l 01H1:3,000,0002*13|= 3,000,000
(=9de)IUx=Z oglnsSy 24 -33,000, 000
(& A 15,000,000
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(AT ALY ) 2 BHEE 115,000,000 *13|= 15,000,000
(=) IXtFzE A2FH St 8,000,000
(HLAIZIX=ZE A23Hl St 5,000,000
(& Al 41,000,000
4225 HHEHy| 0 0 0
(& A 0
4226 HI|==2 105,000 104,200 800
(=g )Atsh4=5:11,000,000& %13 = 11,000,000
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(8 AH) 6,400,000
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4230 2l 112,900 98,200 14,700
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(=g d)2dE4+22:2,000,0002 *13|= 2,000,000
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(L) X24242:12,000,0008 «13|= 12,000,000
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(8 ) 39,000,000
4234 D12 Z AR FAY| 6,000 6,000 0
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4241 J|EF 2| 6,000 6,000 0

(=42 d)IEH2 Yl :5,000,0002 *13]= 5,000,000

(SSA)IIEF2 Yl 1,000,000 *13]= 1,000,000

(8 AH) 6,000,000
4400 W= 2 733,807 1,146,000 -412,193
4420 JIEt =2 733,807 1,146,000 -412,193
4421 &4 1,000 1,000 0

(=g )&&4:1,000,000&*13]= 1,000,000

(& A 1,000,000
4422 H= 3 It 732,807 1,145,000 -412,193

(S SAHY) OISR Dt:1,080,000,0008 x13]= 1,080,000,000

(AT AL ) O Z & JF:65,000,000& * 13| = 65,000,000

(RSM)IXNFE &0 24 -412,193,000

(8 A 732,807,000
4500 M =3 311,300 288,000 23,300
4510 M =32 311,300 288,000 23,300
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(=g )gol™d&E2:62,000,0002*15]= 62,000,000

(A d)HEMEZ:100,000,0002 «13]= 100,000,000

(RSAY)HEAZ2:100,000,0002 *13]= 100,000,000

(HITIAY) S & E2:26,000,0002 %13|= 26,000,000
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4600 0fl 814l 100,000 100,000 0
4610 ollgI gl 100,000 100,000 0
4611 0fl8l bl 100,000 100,000 0
(=< )0l HIH]:30,000,000& * 13| = 30,000,000
(7S ) OdlH1H1:50,000,000& * 50,000,000
(211l )0l HIH1:20,000,000& %13 20,000,000
(& Al 100,000,000
1200 E XA EFRFAKI & 20,006 6 20,000
1220 S XL XHAX & 1 1 0
1229 JIEFSE AR & 1 1 0
(=< VEX2 1,000
(& A 1,000
1240 J|ELAtAERI = 20,004 4 20,000
1242 XS SSK =S 20,003 3 20,000
(gd)des2NE 1,000
(RSAY)LNES2XE 1,000
(HUAIY )L EES2XE 1,000
(AHATLAI IR =E dRNESS XS 20,000,000
(& A 20,003,000
1249 J|EFXFAH 1 1 0
(=g )=X3 1,000
(& A 1,000
1260 D28 1 1
1263 &2AH=II=HE 0 0
(& AH) 0
1265 LA &)= HE 0 0 0
(& Al 0
1266 YOSHSXIISHY 1 1 0
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(& ) 18,001,000
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(4212 9)HIE:10,000,0008 *13]= 10,000, 000
(S SAFY)HIE 12,000,000 *13]= 2,000,000
(AT AFR ) HI Z:10,000,00084 % 13]= 10,000, 000
(HIAFE)IREZ EIIHIZ0HYH S0t 90,000, 000
(& ) 112,000,000
1316 XH2 e 04| 1 1 0
(L) 22 11,0008 *13]= 1,000
(& A 1,000
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D101 A2 3,675,578 3,388,881 286,697
1100 (JIZL) K S XHat 3,682,678 3,395,981 286,697
110 1) K[sH2 3,662,478 3,375,781 286,697

(=AU XI0IE SSX2 3,191, 184,649

(SEAII0NYE SSX2 180,222,712

(HLA) X0l SSX2 4,373,162

(FALIXE=E REN= St 114,592,028

(SEAINEE RS2 B0t 172,312,319

(ATLAI X E=E RENHS 22 -206,466

(g8 A 3.662,478,404
1120 (1Y) JIEFS SR 20,200 20,200 0

(=L )XII0IE JIEIS S KtHA 20,000,000

(SEAL)XIN0IE JEISS A 100,000

(HLIAFZ) X101 " DIEFR S KAt 100,000

(&8 A 20,200,000
2100 S S A st 7,100 7,100 0
2120 (D1)ol+=2 4,100 4,100 0

(2=olgehxtololg o2 3,000,000

(SEAL)IIIONY o2 100,000

(HIAFS)XHDI01” O3 1,000,000

(&8 A 4,100,000
2130 (1Y) &2 2,000 2,000 0

(HIAL)ZHDI01Y 2 2,000,000

(8 A 2,000,000
2140 (2IL)JIEIR S 2 1,000 1,000 0

(HLAIZ)XIDI0IE DIEIRSEM 1,000,000

(&8 A 1,000,000
NSRS AEH 6,195,594 6,091,690 103,904

6,195,594,404
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